
KE-430HX, 430HS/BE-438HX, 438HS-401

2121

KE-430HX,430HS/BE-438HX,438HS-401

H.                    / Threading mechanism

<                   / Option parts >

< KE- 430HX,BE- 438HX 
   / For KE- 430HX,BE- 438HX >

< KE- 430HS,BE- 438HS 
   / For KE- 430HS,BE- 438HS >

27

40

15

41

2

2

21
24

23
22

12

2

2
3

4

7

10
14

11
13

16
19

28
18

8
9

25

1

5

42
43

39

17

26

6+
29+

37+

20+

33

32

34

6+

38+
35

36

30
31



KE-430HX, 430HS/BE-438HX, 438HS-401

22

H. 糸通し関係 / Threading mechanism
REF.NO CODE Q'TY 品名 NAME OF PARTS RM

1 SA3250001 1 アームイトミチA ARM THREAD GUIDE,A
2 062500616 4 ナベコ5X6 SCREW PAN M5X6
3 SA4333001 1 アームイトミチB ARM THREAD GUIDE,B
4 SA6391001 1 アームイトミチC ARM THREAD GUIDE C
5 SB1086001 1 アームイトミチD ARM THREAD GUIDE D
6+ P.51 1 イトトリバネ THREAD TAKE-UP SPRING

<KE-430HX, BE-438HX用> <For KE-430HX, BE-438HX>
7 SB1084001 1 DTイトチョウシボウ DT TENSION STUD
8 SB1088101 1 セットカラーDT SET COLLAR DT
9 SB1180201 1 キリワリジク SHAFT
10 SB1181001 1 DTクッション DT CUSHION
11 SA6190001 1 DTイトチヨウシサラ DISC DT
12 SB1267001 1 コイルバネ COIL SPRING
13 145446001 1 イトチヨウシサラ DISC TENSION
14 SB1281001 1 テーパサラオサエ TAPER DISC PRESSER
15 018301036 1 アナボルト3X10 BOLT SOCKET M3X10
16 SB1182101 1 DTイトチョウシダイクミ TENSION BRACKET ASSY
17 012400436 1 アナヒラ4X4 SET SCREW SOCKET (FT) M4X4
18 021500316 1 3シュナット5 NUT 3 M5
19 SB2330001 1 ヒラザガネショウ4.76 WASHER PLAIN S SM4.76
20+ SA4143001 1 アナトメネジ6 SET SCREW, (FT) M6X6

<KE-430HS, BE-438HS用> <For KE-430HS, BE-438HS>
20+ SA1229101 1 アナトメネジ6トガリ SET SCREW (FT) M6X6

21 SA3256001 1 イトチヨウシボウA TENSION STUD A
22 100136001 1 イトチヨウシナツト TENSION NUT
23 SA4146101 1 フクチヨウシバネ SUB TENSION SPRING
24 145446001 2 イトチヨウシサラ DISC TENSION
25 SB1087001 1 アームイトカケ THREAD GUIDE ARM
26 021400306 1 3シュナット4 NUT 3 M4
27 SB1058001 1 ハリボウメタルDイトアンナイ N-BAR BUSH THREAD GUIDE D
28 S50384101 1 イトユルメピン TENSION RELEASE PIN
29+ P.52 1 ハリボウイトアンナイ NEEDLE BAR THREAD GUIDE 

<KE-430HS, BE-438HS用> <For KE-430HS, BE-438HS>
30 SB1600001 1 イトチヨウシボウタイ THREAD TENSION BRACKET
31 100402004 1 トメネジ3.57 SET SCREW SM3.57
32 116922201 1 イトチヨウシボウ TENSION STUD
33 145446021 2 イトチヨウシサラ DISC TENSION
34 159805001 1 イトチヨウシサラオサエ TENSION DISC PRESSER
35 SB4216001 1 チョウシバネウエザガネ WASHER
36 SB4038001 1 イトチヨウシナット TENSION NUT

<KE-430HS-3, BE-438HS用> <For KE-430HS-3, BE-438HS>
37+ SB4442101 1 イトチョウシボウダイクミ THREAD TENSION BRACKET ASSY
38+ 104525103 1 イトチヨウシバネ TENSION SPRING H

<KE-430HS-5用> <For KE-430HS-5>
37+ SB4443101 1 イトチョウシボウダイクミ THREAD TENSION BRACKET ASSY
38+ 107606101 1 イトチヨウシバネ TENSION SPRING

<オプション部品> <OPTION PARTS>
39 152881101 1 エキレイタイクミ NEEDLE COOLER ASSY
40 012060636 1 アナヒラ6X6 SET SCREW SOCKET (FT) M6X6
41 152883000 1 フエルト8X15.5 FELT, 8X15.5
42 152884001 1 エキレイイトカケ NEEDLE COOLER THREAD GUIDE
43 062670412 1 ナベコ357-40X4 SCREW PAN SM3.57-40X4

KE-430HX, 430HS/BE-438HX, 438HS-401 22

jbou
Texte surligné 

jbou
Texte surligné 

jbou
Texte surligné 

jbou
Texte surligné 

jbou
Texte surligné 

jbou
Texte surligné 

jbou
Texte surligné 

jbou
Texte surligné 




